KI(



84

84 87

87

v

;




@

@

®







D

2)

@

40

80

70

60

50

40

30

20

10

70

85




3)

4)

55 60

)

D

12 18

30 37



2)

3)

30cm

50 300 /" m







55




t/ha

30
t/ha (kg/ha)=<10 = (0.3)+ (%/100)—=
PO KO
72.3 0.57 0.52 0.64
91 0.38 0.2 0.42
PO KO
72.8 30 60 95
91 55 60 95
(kg/ha)
(t/ha) PO KO
200 100 200
120 100 200
200 180 200
160 100 160
10mg/L
10 ton

30

60

(%/100



/ha

30
(kg/ha)
PO KO PO KO
140 80 30
60 _ 30
140 70 80 110
110 60 50

360




1
2)

3)

4)

1987

1996
P72 97

1983

58

1994



